EARAROBEEIERT — 2 N— IBISH —F

2018F1A6H (+) 1H=#1A

R EEEXY

REEFI

CES&)

HEE] B

EZS

=

‘ [RERBE] — | Z (&) 22000 B

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. # o3 | K& 2:15.6 3-3-4-3 | 34.7| 89.5 | 1 476 | RERX (RR)
L iy 56.0 =) 2) SFENANT TR ()
x> THAANAN B:L—FA>F4d =Y Tr—LA
— MR — :15. -9-2- . . SAZERE (ER)
JZX RS ELX 4 3 i (21155/;9) 9-9-2-2 | 355/ 86.3 | 2 (ztf; o
LN—ErVrv— B:VYLZT J =Y Tr—L
Y4 Ty k 4 3 g’zéuéﬁﬂ 2:(1‘8.6 5-5-6-5 |35.3] 79.2 | 7 512 2551@%
Ri—5—vv 7 BES/N—F% (-6) FHREHS
R 8 Rk — : —7-8- AARES (FR)
al1lq | ®rs 1527 3 g 2.(126).9 7-7-8-6 | 35.3| 76.1 | 4 (ifg) 5%:5
R AFAd—ILK B:ZXAYqs— k7> RK78-L X INHISHT 7 —Ls
s S e i 3 | ESRN 2:17.2 1-1-1-1 | 36.8| 73.6 | 11 486 | ERIEE (ER)
5/5|6 T4 T RTTF 54.0 (1 3/4) (-2) KBEEZ
R:vagrh7 B:T7ITFIAN—h HBE77— L4
=3 3 | RERS 2:17.4 12-12-12-11( 35.4 | 71.0 | 6 462 | BR (ER)
cf@s| F—FITINTIZ 54.0 (1 174) Co | EEDE
RN—VIF4 B:b—FKYHAT nE =h
= A o3 | EIlEF 2:17.5 7-7-8-7 |35.9| 70.3 | 9 496 | REBR (ER)
7 9| 7777 XZ 56.0 (1/2) -6) EEF)?;%
IV INATA—H— B:HU—> ELae]
= 3 | EHEBZ 2:17.5 9-9-10-9 |35.7 | 70.1 | 8 470 |FETES (RR)
88|12 7~ A—=TA—2 56.0 (7€) o |1ERE
R:VLKYIYRIR BiFxvLTF4—RART Y5 4B
4 3 | EE 2:17.7 3-3-5-7 |36.4| 68.4 | 10 | 498 |HBAIE (FE®)
9|7/10/ 77 A 54.0 (1 1/ o) |EAREL
L:xF1=g7—X B:YINIILKSK HE R
“ 5 4 3 | =X 2:18.0 2-2-2-3 |37.3| 66.4 | 3 508 | KIFEA (X)
10/ 8|13 @YY ¥ 56.0 (i 3/2) 42 | FAAL=ZE=Z ()
A:War Front #:Night Lagoon Barronstown Stud
N . “ 3 | EE 2:19.1 5-5-6-9 | 37.6| 56.6 | 5 482 | HHPEZ (BR)
]2 x24T n=v [B] g ¥¢55.0 ) 46) BRL—Z (H)
RN=YT514 B:NAT—57 A FEI
5 S # 3 | BRR 2:19.2 11-11-10-12| 37.3 | 55.3 | 13 | 464 |UmILi#4E (FH)
120711 Y2—>>Yz1h— ¥¢55.0 (3/4) (-a) | B
R:T59 U84 F B:5TU—NO-X E4HTT— I
= i 4 3 | ZEAEA 2:19.5 12-13-12-13| 37.4 | 52.6 | 12 | 454 | BEH&H (FX)
13|5|7 | 7171/ =7 A53.0 (1 3/4) © |meAmE
R:FH¥~7xx42 H:a0F BEESH T NL-—Z2TE1%
@ 71 L
) 46.8-35.2
NO>24 L | 12.5-11.4-12.7-13.0-13.1-13.2-12.9-11.6-11.5-11.7-12.0
@ 1—F—@&BIEf
13=7r= 6,13(5,10) (3,2)-(1,9)-(4,12)11-(7,8)
20—+ — (x6,13) (5,10) (3,2)-(1,9) (4,12)11,8,7
S=57= (¥6,13,4)5,10(3,2) (1,9) (11,12)-(7,8)
40—4— (x6,4)-(13,5)-3,1(10,9) (12,2)8,11,7
[ RN
B OB 5 1609 714K 4-5 120H e & 4-4 180H &R 3-4-5 1,020H
% B 5 110 &5 5108 | | & &= 4-5 180M | | 3EE 5-4-3 2,340M
4 110 3-4 650M B H 5-4 280M
3 260M

ABICOVWTRDTEEERROODE. TR LIV,




